For questions 1 — 10, use a number or one of the following words to complete the sentences:
collinear, non-collinear, endpoint(s), perpendicular, parallel, vertex, capital, opposite rays

To draw a line segment, I need exactly & oings.

To name a line segment, I use the Q Q ;& l

To name an angle, I must use &pomts The £ t tAst be the 2™ point.
To name a ray, I use 4@ points

The first point must be the

Points are named with ‘ E rt ‘etter(s) R 3
Two rays which together form a straight line are called 0 0 V av

& Wb

Two lines that meet at 90° angles are called y  lines.

0 N o w»

Two lines that are in the same plane and never intersect are called

ines.

9. You need at least three l , nk . ‘ Dl“ Y\RMMS to name a plane

Chapter 1 and 2|Use the figure below for 1 to 8.

= W

N R
1. Name the intersection of planes WEG and CRX C W
2. Name the intersection of XA&NA ¢ /& A_
3. Name a point that is coplanar with W, X, =

4. Name a plane that is parallel to GNA C

5. Name a segment that is parallel to CR \TJX
6. Name a segment that is skew to WE C KI_C
7. Point C is formed by the intersection of jgand\_
8

. GC is formed by the intersection o& _mﬁ _ew&l(/

For questions 10 — 17, use the diagram at the right. Please use the correct symbol for naming lines,
rays, segments, and angles.

&>
10. Name a line: AD

—_—
11. Name 2 rays: nd @D

12. Name 2-line segments: %nd QE
13. Name a right angle: LA‘@ F

. N
14. Name a line perpendicular to GF'. A-b

L ] [ ) o
15. Name 3 points that are collinear / l CZ m:lv:lB

16. Name 3 points that are non- collmear }4 C and e

17. Name a pair of opposite rays. %A‘_ m

Use the figure at the right for 9 to 12
9. Name line 777 two other ways. & |

e, 57

10. Name a point that is collinear with C and R. *
11. Name the intersection of line t and 7R ° 5/

12. Name a ray that is opposite of HE ]l-\ Q
Fill in the blanks. _
13. 0C+E =QF 14. TW+WR -CR_



14. Name the highlighted ray. 15. Name the highlighted segment.

N A c X K N A C X K

A NC

2. Write down ALL of the steps it takes to solve the given equation for x. Give a reason for each of the steps.
Given: 9x+3(x—-4)+2 =74

Shodemuintks [R_easons
“ay —1-&0(’ 127 ll’;‘[\
ax t k1L 2= 1) e e s

1. Write down ALL of the steps it takes to solve the given equation for x. Give a reason for each of the steps.
Given: 10x+11+2x =359

Steps ga?sons
10x+11+2x =59 1. £
12x+ 11 =59 2. COMb) XAKL"'U m S
C12x+11-11=59-11 3. A
12x = 48 4, /& g
%:% 5. VA

x=4 6. J\M?L'

R

3. Provide the reasons for each step.

R C
Given: m. . CEB = 105°
Prove: m/ CER = 65
B 40°
E

Steps Reﬁ)v\_ gf Md/lnof\
1. m/_CER+ m/ REB =m/ CEB
m/ CER+40° =105° 2 S\A

m/ CER = 65° 3S\A

SEN



4. Provide the reasons for each step.
Given: J is the midpoint of 4Z

. 2x+8 ) 4X .

A J z
Steps Reasons

1. Jis the midpoint of 4Z @1 LV-U’\ L

2. AI=JZ VLK ok N 0Bt

3. 2x+8=4x SU5T.

4 8= S\ .

5. 4=x AT NI

6. x=4 QAMM .

6. Provide the reasons for each step.

8X+40
1 2

12X

Steps
m/l_1+m/2=180°
12x + 8x + 40 = 180°
20x +40 = 180°
20x = 140°
x=70°

b=

Re?onsdQp O(SMPP{
SWo
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5. Provide the reasons for each step.

Given: TC = 22

. 3X-5 . 2X+7 .
- T Q

Steps Reasons

1. TO+QC = TC 1, ga W\Q,VledA,
2. 3x—5+2x+7=22 2. SWW
3. 5x+2=22 3_ (WL LY am
4. 5x =120 4. QWY
5. x=4 5. AV ISIOV]

7. Use the given property to complete each statement. s
(a). Use the Addition Property of Equality: ~ If 9x — 12 = 42, thg( 5'f
(b). Use the Multiplication Property of Equality:  If 5 = 20, thep(,AO
c). Reflexive Property /L ABC = £ ABO

g:). Transitive Property  If MC = RW and RW = QT and :‘[\Aéj&\/

). Symmetric Property  If £.CAD = / EXQ, thené'E%Q
(f). Substitution Property  If AB+ BQ = A0 and BQ = 12, then ﬂ_Q

ABHP



8. Solve for x and y: —_ L{X®
‘ Y )(?- 22X =180

2y +3x X‘*)NX);@%@




